YHuBepcanbHoe Kpe

Aptukyn: 444.0038.1

CoBMecTUM co criefyoWMMU MOAENSIMU KBaAPOLIMKIOB:

Arctic Cat: 500, 700 TRV-S, 700 MUD PRO, 1000 TRV-S, 1000 MUD PRO
BRP: Outlander G2

CF-moto: X4, X5, X5 H.O., X6, X8, X8 H.O.

Honda: TRX 420, TRX 500

Kawasaki: KVF 750

Polaris: Sportsman 570, Touring Sportsman 850, Scrambler 1000

RM: 500 (2013), 500-2, 500 Pbicb, 650-1, 650-2, 800 ATV

Stels: Leopard, Guepard

Suzuki: KingQuad 500, KingQuad 750

Yamaha:  Grizzly 350, 450, 550, 700 (2013), 700 (2016-), Kodiak 700 (2016-)

KomMmnnekr

KpenneHuve yHuBepcansbHoe

Kpennexnne BRP Outlander G2

1. Kpennenune 1wt _ ~
2. KpoHLuTeH. 2wr. KpenneHue Polaris Sportsman 570 Kpennerve RM-500, RM-650
3. KpoHLwTenH. 4w,

4. 4 wr.

5. 3wt 13

6. 8 wr.

7. bont M8x20 4 wr.

8. lNaiika M8. 8 wr

9. lWanba 8...... 4wt

10. Warba 8 yBenuu. 8 wr

11. Wait6a 10 3wt

12. Taitka 3aknagHast M10x65.. 1 wT.
13. lManka 3aknagHas M10x105 2 wT.

MHCTpPYKUMA NO YyCTaHOBKE

1. YcTaHOBWTbL KpeneHns oTBana noa. 1 Ha pamy kBaapoLvkna, 3aKpennTb kK paMe XoMyTamu noa. 4, waibamu noa. 10, raikamu M8 nos. 8.

[ins kpennenus k ksagpouukny BRP Outlander G2 ncnonb3oBath KpOHLLTENHBI N03.2, 6onTel M8x20 no3. 7, waibel 8 nos. 9, raiikm M8 noas. 8.
[ns kpenneHus k kBagpoumknam RM 500, 500-2, 650-1, 650-2 ncnonb3oBaTb KpOHLWTENHBI NM03.3, 60nTbl M8x70 noa3. 6, waiibbl 8 nos. 10.
[ins kpennexus k ksagpouukny Polaris Sportsman 570 ncrnonb3osarts raiiky 3aknagHsie M10 no3.12 n nos. 13, 6ontel M10x35 nos. 5, waiibsl 10 nos. 11.



1
Прямоугольник


- Arctic Cat - | ) . = - : - * o : S . ®
TRV 500/700/1000 CFMOTO CFMOTO CFMOTO

MUD PRO 700/1000 CFORCE 400/450/520 CFORCE 550 CFORCE 500/600

CFMOTO CFMOTO Honda ~ Honda
CFORCE 800/820 CFORCE 850 TRX 420/500 Rincorn TRX 680



1
Прямоугольник


Kawasaki Polaris Polaris | Suzuki
KVF 750 Scrambler 1000 Sportsman 850

Yamaha Stels

Grizzly 350/450 Grizzly 550/700 Leopard 600/650 Guepard 650/800/850

Kodiak 700



1
Прямоугольник


	Страница 1
	Страница 2
	Страница 3

